R EDOZRE (1)

(1) WOXZREZEL IV,

O x*+16x+64

@ x*+8x+12

® x*+13x+36

@ x*—2x—35

©® x*+8xr+16

@ x*+3x—10

® x*—5x—14

®@ x*+x—42

@ x*+2x—15

® x*—49

r*+x—20

xr’—121

@ x*+2x—48

@ x*+2xr—24

F #

B K%

(2) WOKXZREDHEL SN,

O x*+18x+72

® x*—9xr—36

® x*—20x+ 100

@ x*+42x+80

© x*—6x—91

@ x*+10x+ 24

@ x*+10x—24

x*+14x+ 33

'+ 2x—99

x*—256

x*—25x+ 150

x*—20x+ 96

x*—10x+24

x*—10x—24



R EDOZRE (1)

(1) ROXEZREITML LSV,

O x*+16x+64 ®@ x*+x—42

= (x+8)? = (x+7) (x—6)
® x*+8x+12 @ x*+2x—15

= (x+6) (x+2) = (x+5) (x—3)
® x*+13x+36 ® x*—49

= (x+4) (x+9) =(x+7) (x—7)
@ x*—2x—35 r’+xr—20

= (x—7) (x+5) = (x+5) (x—4)
©® x*+8x+16 r*—121

= (x+4)* = (z+11) (x—11)
@ x*+3x—10 @ x*+2x—48

= (x+5) (x—2) = (x+8) (x—6)
@ x*—5xr—14 4 2x—24

= (x—17) (x+2) =(x+6) (x—4)

(2) WOKXZREDHEL SN,

O x*+18x+72

= (x+6) (x+12)

® x*—9xr—36

= (x—12) (x+3)

® x*—20x+ 100

= (x—10)?

@ x*+42x+80

= (x+2) (x+40)

@ x*—6x—91

=(x—13) (x+7)

@ x*+10x+ 24

= (x+6) (x+4)

@ x*+10x—24

= (x+12) (x—2)

=3 #H E K4

@ x*+14x+33

= (x+11) (x+3)
@ x*+2xr—99

=(x—9) (x+11)
® x°—256

= (x+16) (x—16)
x*—25x+ 150

= (x—15) (x—10)
x*—20x+ 96

=(r—12) (x—8)
@ x*—10x+24

= (x—6) (xr—4)
r*—10x—24

= (x+2) (x—12)



